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IBPS RRB CLERK 2020 (PREVIOUS YEAR MEMORY BASED QUESTIONS)

Q 1- A shopkeeper marks up the price of an article by 50% and then allows a

discount of Rs. 150. If he received a profit of 25% then find the selling price

of the article.

T 1- Teh GoRTGR Ueh & ohl hIFd H 50% hl 1 hLaT & S T 150 T Al

T T 81 Al I 25% T ATH TH BIAT & QT o 3 [o5h3 He I shiTs|

|
2.
3.
4
5

Rs 600
Rs 750
Rs 650
Rs 550

None of these
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Q 2- Amit invested same amount of money for y years and (y + 4) years at
simple interest the rate of interest 10% and20% respectively. The interest
received on the amount invested 1s Rs. 2000 and 8000 respectively. Then
find the value of y

I 2- AT y a1 3R (y + 4) T ob [T THTT TIRT T 1 shA: 10% IR
20% =T ATITLUT SATST &L 9 TohAT| THAST ohT 1T TIRT 9 ITH SATST ShHST: 2000 T
3T 8000 T4 B, AT y o1 AT T shifoid L. 4years

3 years

2

3. 2 years
4. 8 years
5

None of these
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Q 3- A man rows 48 km upstream 1n 6 hours and a distance of 70 km
downstream in 7 hours. Then the speed of the man 1n still water 1s

I 3- Uk ik €T o Sfdehet 48 fohelt 31 gt 6 =i o ST G o 3rgepet 70 foprt
ot gt 7 €l T o Rl 21 Al e ot Sraet ohY e 2

1. 8 km/hr

2. 12 km/hr

3. 9 km/hr

4. 10 km/hr

5. None of these
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Q 4- A invested Rs. y and B mvested Rs. (y + 800) in a business. After an
year, the profit earned from the business 1s Rs. 13600. If A’s share 1n the

profit 1s Rs.6400, then find the value of y
Q4- AT Y %- o1 3T fohaT 3T B 5 Teh @™ | (x + 800) %- ahT [T foha|

Teh N oh 1€, AU ¥ 3 19 13600 I 2 Al A9 | A 7 &&= 6400
9 €, Tl y o1 HIF 1 ahitst

1. Rs 7200
2. Rs 6400
3. Rs 5400
4. Rs 6600
5. None of these
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Q 5- The Ratio of milk and water in the mixture 1s 3 : 1. 40 Liters of mixture
1s taken out from it. If the difference between the milk and water in final

mixture 1s 140 liters, then find the 1nitial quantity of the mixture

5- Ter2ro7 o ger ST Tt o1 3771 3 ¢ 1 81 368 § 40 A forsror foehret Sirar 2
3t St foraror | e S AT o st sht 3T 140 et €, ar fosor h wrfiveh
HTAT T shitst

1. 220L
2. 340L
3. 320L
4. 400 L
5

None of these
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Q 6- A train can cross a pole in 90 seconds. The speed of the train 1s 144
km/h. If the speed of the train 1s 108 km/h, then how much time will 1t take

to cross pole by the train?

6. Teh LrTTE! foret WY ot 90 Tehe T IR o Tehd] &1 ¢ hl T 144 forwi/ereT 2|
g & R 71T 108 Torei/eiaT &, a1 ¢ ST @Y ohl IR i | Toha T 98I T

1. 200 sec
2. 180 sec
3. 80 sec
4. 120 sec
5

None of these
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Q 7- The present age of Q 1s 2 years more than P. The ratio of the age of Q

after 2 years and the present age of P 1s 7: 5 respectively. Then what will be

the ratio between the present age of Q and the age of P before 3 years

Q 7- Q =l SHT Y P | 2 oY IAfereh €] 2 9N Sl1€ Q shi 31 3N P shl aciHH
3TY T ST SHHTT: 7: 5 81 A1 Q hl IdHT AT 3 3 a9 H U&A P o6l I

ST Al EERIN T BT

|
2.
3.
4
5

22:9
31:7
25:3
227

None of these
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Q 8- The circumference of the circle 1s 4 cm more than to the perimeter of the
rectangle. The length of the rectangle 1s equal to the diameter of the circle and
the breadth of the rectangle 1s equal to the radius of the circle. Then find the

radius of the circle

8- T e TTTRT STId o TNHTT & 4 cm ek | ST hl TS I oh SITH oh SR

(N 2NN

o\ 2\ ¢ N O \ \ o O
T S T ol <ISTS I ohl FISAT o SR 7. Al I ohl FHISAT F1dl hifsr
3.5cm

1

2. ld4dcm
3. 7cm
4. 9cm
5

None of these
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Q 9- Pipes A and B together take 40 hours, B and C together take 30 hours,
and C and A together take 24 hours to fill a tank. In what time will the tank

be filled 1f all 3 pipes work together?
TTST A 3T B Weh 3ehl shl WA H 40 ©i¢, B 37 C ot 30 5 3T C 37T A

[eTeht Uah dahl ohl A T 24 B &7Td =) Al T 3 9189 Ueh AT ¥ i =, i
o ford @9 § we ST

1. 10 hr
2. 24hr
3. 20hr
4. 49 hr
5. None of these
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Q 10- 8 men can complete the certain amount of work 1n 72 days. In how
many days can 24 men can do 2/3rd of the same work?

T 10- 8 To Tohefl Tl o 72 Tarl H 00 T Tkl 81 24 T%Y SHT 1 oh 2/3 A
o1 ot fomT o 90 ot Tkl &2

1. 8 days

2.  9days

3. 7.5 days

4. 16 days

5. None of these
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Q 11- What value should come 1n the place of (?) in the following question?

g 11. Fafafaa w1 4 (2) & T 9 =1 g ST A180?
5376 = 24 + 217 = 72

1. 21
2. 22
3. 11
4. 18
5

None of these
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Q 12- What value should come 1n the place of (?) in the following question?

g 12. Fafefaa w1 4 (2) & T 9 =1 g ST A1-e?
V576 = V144 - x = 250

248
252
-248
-244
-288

A
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Q 13- What value should come 1n the place of (?) in the following question?
g1 13. Fafefaa w1 9 (2) & T 9 = g ST =A1he?
8 +(224/4) + (144/3) = x

112
221
212
122

None of these

A
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Q 14- What value should come 1n the place of (?) in the following question?

g 14. Fafafaa w1 4 () & T 9 1 g ST A2
80% of x + 25 = 24

112
221
212
122

None of these

A
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Q 15- The speed of train A and train B 1s 80 km/hr and 64 km/hr, respectively.
When both the trains are running in the opposite direction, they cross each other in
36 seconds. The length of train B 1s half of the length of train A. If train A crosses a
bridge 1n 72 seconds, then find the length of the bridge
ST A ST B 3 i shAST: 80 TohHI/EET 3R 64 TohHl/EieT Bl STE ST o foadia fesm o
= &1 €, A1 o TH-GHL 3l 36 Hehs H U LT 81 ¢ B 2l TaTTg ¢ A ohl TS ohl SATeft
21 AT T A T T ol 72 Hehs § IR L &, T I o ST I shito

I. 440 m
2. 500m
3. 560m
4. 640 m
5

None of these
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Q 16- A can complete a piece of work 1n 80 days and B 1s 30% more efficient than
A. In how many days will the work be completed, 1f both are working together?

A U R o 80 forl H 9 st HerdT § 3R B, A | 30% T2 31 1 Afe 21 U ary
T A ©, Al R Toha Tl H O &1 STe?




>

[ IBPS RRB CLERK 2020 (PREVIOUS YEAR MEMORY BASED QUESTIONS)

Q 17- Tickets numbered 1 to 50 are mixed up and then a ticket 1s drawn at

random. What 1s the probability that the ticket drawn bears a number

which is a multiple of 67

57 17- 1 | 50 Tk ohl &A1 dTet fehal ohl fietmim SraT © 37 it Jgfeseh &
Y Ueh {dohe THeRTAT SITAT 21 38ch! TTRIehdT 9T © foh Tid 70 fdehe UX Ueh T

2SI 6 AT U &7
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